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HW 9-8

1. a. decreasing b. 82 c. .25(Loss of 25%) d. .75 e. 46.1

2. a. increasing b. 154 c. .36(Gain of 36%) d. 1.36 e. 284.8
3. 1,406,413
4. $5,695.31
5. 6%
6. d
7

8

. See explanation on next slide

. {6}
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Name Alg 2 HW 9-8

For the given the equations, determine

a. Increasing or decreasing

b. The initial amount

c. The rate of change

d. The growth/decay factor

e. Find P(2) to the nearest tenth.

P()=82(.75) P(1)=164(1.36)

a. ﬂﬂ !&lﬂgo a. I/\.Cf ggm%

b. 32 b. 154 .

c. 1-75:.25 LﬂSSOFZS?. c. .36-1+=136 Gan JSG?
d .5 d L3¢

e. H46.| e. 234.8

P(2):82(1)
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Werite an exponential function Yo model each situation and evaluate for the given value.

3. A population of 1,236,000 grows 1.3% per year. What will the population be in 10
years?

P) +1,236,000 (1. 013)
P(10) = 1,23(,000 (1. a13) '°
< 1,406,413

4. A new car that sells for $18,000 depreciates 25% each year. What will the car be
worth in 4 years?

C&) - 18600 (Y
C) = (gooo(15)?
= $5(95.3

5. A townhouse purchased 5 years ago for $100,000 was just sold for $135,000.
Assuming exponential growth, approximate the annual growth rate, fo the nearest

percent.
135,000 100,000 (14,
100,000 'Oo' 5('4)

?F?Z— /(li—r‘ or (&o) (\-l-r

l+=1.0¢1858759
A
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X
6. Which of the following best describes the graph of f(x)=47"? -F&) - (ql'y

a. Itisanincreasing function, and it approaches but never reaches the
horizontal axis to the left of the origin.

b. It is an increasing function, and it approaches but never reaches the
horizontal axis to the right of the origin.

c. Itisadecreasing function, and it approaches but never reaches the
horizontal axis to the left of the origin.

d. It is adecreasing function, and it approaches but never reaches the
Q horizontal axis to the right of the origin.

7. A student says that the graph of f(x)= 2"+ 4 is a shift of 3 units up and 4 units
to the right of the parent function. Describe and correct the student's error.

The shudest mixad wp ka(n.zo/\‘\'«\ and vertical Swft
T’\«j also mived up Hhe direchion of e horizontal sheft

WIS + anS'Fdf M"‘no;\ mMoved lef+ 3 O\’\H's ond wp Y WéTl'S.

8. Solve and check algebraically for all values of x:

ﬁ+x=7 Xz—‘s)(""sq :O
X (v-D)(x-9): O g Q}
( X5 :(7-’(\ x-b=0 |x-9:0

X5 :(7-x)7%)  x:C |x:9 pe
X=3:d9 - Uxax® Chek  Chek
-X+5 +5 X \/Lfg_'{.é-.‘] ‘/'975—1“? =7

“‘6}7 ;')4-‘?.-'7
7:7 )1 &7
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Exponential

y
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More Word Problems using Exponential Growth and Decay Unit 9 Day 9

Warm-up: Joelle has a credit card that has a 19.2% annual interest rate computations
compounded monthly. She owes a total balance of B dollars after m months. Assuming she
makes no payments on her account, the table below illustrates the balance she owes after m
months

m 0 10 19 36 60 69 72 73
b 1000.00 | 1172.00 |1352.00 | 1770.80 | 2591.90 | 2990.00 | 3135.80 | 3186.00

Over which interval of fime is her average rate of change for the balance on her credit card
account the greatest?

(1) month 10 to month 60 (3) month 36 to month 72

(2) month 19 to month 69 (4) morith 60 to month 73
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Yesterday we worked on word problems that dealt with growth and decay models based off of
being compounded annually. Today we are going to look at situations that deal with
compounding any amount other than annually. If you look at the equation below you will see
that there is a small adaptation to the formula.

I L =
A(T) = allr) eomprunded guaitnly ! Sn=

where: Q
an> Grding amount 5 Radte o on Jeayf’

a—)mm’ﬂw 1—)%01/;\%4/‘/*—

o HPDAAE  anrs g/ dicnf T
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18 T
Determine the amount a $4500 investment is worth after four years at the followmg intferest

r\ajfsos* a= | 14{ b=al )t L}

5.4% compounded annually

a( = vs00( | + 0559 = 4500( /. os%) +5,553.L0

(=05|+ =

-

5.4% compounded quarterly

()
A= ys00( | + J) - #5570.90

c=.054% = |
5.4% compounded ern‘rl'lh;;z . % /a_(t.b

()= Ys0o( |+ 52 =*5 583.2¢
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7.8 = g n=)
You have $15000 to invest for fi\:\e_y rs. Fund A pays 13.2% interest compounded annually.
Fund B pays 176% compounded quarterly. Fund € pays 12.5% compounded an'ﬂ!\ y. Which
fund will return the most money? Justify your answer.

1 (5)
Fund A: A'{S\)’—:/S,ZDQ(/ _+__‘§2—,) — #597,38! 97

1

H(S)

5
a5V

fde o (Sy=/5,000(1+553) =€27,723.39

Answer: C -

Apple stock was worth $10 a share in 1995. Due to Apple's success, the stock was worth $90
a share in 2017. Assuming exponential growth, approximate the annual growth rate, to the

nearest tenth of a percent. A{QC G_( /")’(‘>-t +=a0I7-1495
L 2
q\Oa::: |O ( € )

12 12 _,
(Vj?((/ +r)aa>/al

[.)050= |tr
Joso = 1
X000
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